Basic Trig Identities

_ sinf —
(1) tan6 = 35 csch =

(2) sin(—0) = —sinf cos(—0) = cosf
(3) sin

o sect) = 7 cotl = g = §25
(0 +2m) = sinf cos(6 4 27m) = cos 0

sin(f + 7) = —sin6 cos(f + m) = —cos 6
(5§ —0) = cost cos(3 — ) = sinf

sin® 6 + cos? 0 = 1

sin(26) = 2sinf cos

sin

cos(26) = cos? f — sin? 0
sin(f + ¢) = sin 0 cos ¢ + cos @ sin ¢
+

¢) = cos B cos p — sin O sin ¢

More Trig Identities

(4)) tan?6 + 1 = sec? 0 1+ cot?6 = csc?
(5,6’) tan(26) = [ Ziant

(6") cos(260) =2cos?f — 1 =1— 2sin*f

cos2 ) — 1+co2s(29)
sin2 0 = 1—0025(29)

2 _ 1—cos(20)
tan® 6 = 14+cos(26)

(77) sin(f — ) = sinf cos p — cosfsin @

cos(f — ¢) = cos @ cos p + sinfsin ¢

tan f+tan ¢

tan( + (P) 1—tan 6 tan ¢
) =

tan f—tan ¢

tan(@ ¥ 14+tan 0 tan ¢

(77) sinfcosp = {sin(6 + ¢) +sin(d — )}
sin@sinp = 1{ cos(6 — ) — cos(6 + ¢) }
cosfcosp = 3{ cos(f + ¢) + cos(d — ¢) }

sina + sin 8 = 2sin O‘+B cos O‘T_ﬁ
sina — sin 8 = 2 cos O‘+ﬁ sin O‘T_ﬁ
cos o + cos B = 2 cos O‘+6 cos O‘—;B
cosa — cos f = —2sin O‘+ﬁ sin O‘—;ﬁ

The code here is that, for example, the identities in (4’) are easily derived from the identity

n (4). The identity in (5°,6’) is easily derived by dividing the identities in (5) and (6).



